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WIER KEEITEITHTR - BISFERERIRES

% # s - BRHE s ¥ 8 i & & =
BRI 11,556,060 + 200, 981 11,757, 041
EEAGHE 11,556, 060
EERE 200, 981
Z Ot [ 1 11,556,060 x 53.85% ( 35% = (1 — 35%) ) 6,222,938
KB RE 11,757,041 + 6,222,938 17,979, 979
—REEERE 17,979,979 x 53.85% ( 35% = (1 — 35%) ) — 2,197 9, 680, 021
EX T 17,979,979 + 9, 680, 021 27, 660, 000
HETEELE 27,660,000 x 10.00% 2,766, 000
¥BERAH 27,660,000 + 2, 766, 000 30, 426, 000




BEARRE KEBICHT2T R EISE SR Eh R £

% [ BE - BT B B B T # wm B
E#E R 11,757, 041
F5 - BESEEREMBREES 11,757, 041
FB - BESEERERES 11,757, 041
BRI 11, 556, 060
FIEE 415, 450
1 FHE#RE 1.00 415, 450 415, 450
=
E 657, 900
2 RIS 1.00 117, 400 117, 400
=]
3 PRHE 3.00 117, 400 352, 200
=l
4 ZRW|E 1.00 188, 300 188, 300
=]
ERERARE 8,509, 400
5 BREE MRS - BE 1.00 2,592,500 2,592, 500
=
6 BRrEETYLY 1.00 1,224,000 1,224,000
=
T {24 O HH 1.00 1,013,700 1,013, 700
=
8 MABRERE 1.00 2,027, 400 2,027, 400
=
9 EREBERAERER 1.00 1,651, 800 1,651, 800
=




BEARRE KEBICHT2T R EISE SR Eh R £

% [ BE - BT B B B T # wm B

ZE=DOFE 1,420, 800

10 ZESERER 3.00 275, 300 825, 900
=]

1 ZEREE 3.00 198, 300 594, 900
=]

MEY 552,510

12 S|REEER 1.00 433, 550 433, 550
=

13 AFHARRERER 1.00 118, 960 118, 960
=

EERE 200, 981

EHARE 108, 981

14 =2HAME 1.00 108, 981 108, 981
=

MR 92, 000

15 EHE SR 1.00 92,000 92,000
=




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

&5 1
2 FrEERE 1zt Yy
4 b g - BRKTE BAGL 2 B {f %5 5 &
HEn&
A 1.00 70, 900. 00 70, 900
EXEE: T HEH))
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& it YE¥REH : 1.00 415, 450. 00 415, 450
EF5:2
&% ;. BHiHE HEED)
£ b R - BRRTE BARL 2 B % i &
F{EHAm (B&ED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55,200
& it YEZREH : 1.00[H 117, 400. 00 117, 400
&5 :3
& hEHRE HEED)
£ b R - BRTE BARL 2 B % i &
F{EHAm (B&ED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55,200
& it YEZREH : 1.00[H 117, 400. 00 117, 400




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

&5 4
2 RE®RE HEEY
4 g R - KT By 2 B i & £ 5 &=
HEm&
A 1.00 70, 900. 00 70, 900
F{EHAm (B&ED
A 1.00 62, 200. 00 62,200
HER (A)
A 1.00 55, 200. 00 55, 200
& H YEZREH : 1.00[H 188, 300. 00 188, 300
&8 :5
B BREERINE - BE 1X5Y
2 Eu R - kTiE By = ] & el i &
AR (A)
A 15.00 55, 200. 00 828, 000
HEm (B)
A 25.00 45, 300. 00 1,132,500
BT &
A 20.00 31, 600. 00 632, 000
= g YEEBEH : 1.00 2,592, 500. 00 2,592,500
E5:6
4 g R - KT By 2 B i & £ 5 &=
F A GRED
A 8.00 62, 200. 00 497,600
AR (A)
A 8.00 55, 200. 00 441,600
HEm (C)
A 8.00 35, 600. 00 284, 800
& H YE¥REH : 1.00 1,224, 000. 00 1,224,000




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

&S 7
B RO IEEL,
4 b LI 2 NS =-Fiv] 2 B %5 5 &
e TG HY
A 4.50 62, 200. 00 279, 900
A (A)
A 4.50 55, 200. 00 248, 400
BER (B)
A 6. 00 45, 300. 00 271, 800
HEm (C)
A 6. 00 35, 600. 00 213, 600
& it fEZREH 100 1,013, 700. 00 1,013, 700
EES:8
L R ERET IEEL
4 5 R - KTk I=-Riv] 2 B %5 5 &
EXEETHEH))
A 9.00 62, 200. 00 559, 800
BER (A)
A 9.00 55, 200. 00 496, 800
A (B)
A 12.00 45, 300. 00 543, 600
BER (C)
A 12.00 35, 600. 00 4217, 200
A it fEZRES - 1.00=% 2,027, 400. 00 2,027, 400




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

&S :9
&% BREREERER 1LY
4 5 R - BRTR B 2 B & # 5 &
e TG HY
A 6.00 62, 200. 00 373, 200
A (A)
A 9.00 55, 200. 00 496, 800
BER (B)
A 6.00 45, 300. 00 271,800
HEm (C)
A 9.00 35, 600. 00 320, 400
B &
A 6.00 31, 600. 00 189, 600
A& i fEZRES - 1.00=% 1, 651, 800. 00 1,651, 800
ES5:10
& EEREHER HEED)
4 5 R - BRTR B 2 B & # 5 &
EXEETHEH))
A 1.00 62, 200. 00 62, 200
BER (A)
A 1.50 55, 200. 00 82,800
A (B)
A 1.00 45, 300. 00 45, 300
BER (C)
A 1.50 35, 600. 00 53, 400
HiTg
A 1.00 31, 600. 00 31, 600
& R YEZREH - 1.00[E=] 2175, 300. 00 2175, 300




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

B#5: 1
2% REREE HEED)
4 b LI 2 NS =-Fiv] 2 B %5 5 &
e TG HY
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
BER (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it fEZREH - 1.00H= 198, 300. 00 198, 300
H5:12
B MEEER IEEL
4 b LI 2 NS =-Fiv] 2 B %5 5 &
e TG HY
A 1.50 62, 200. 00 93, 300
A (A)
A 2.50 55, 200. 00 138, 000
BER (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 2.50 35, 600. 00 89, 000
& i fEZREH 100 433, 550. 00 433, 550
£:13
BF: NRAARERIER 14y
4 b LI 2 NS =-Fiv] 2 B %5 5 &
BER (C)
A 1.30 35, 600. 00 46, 280
HiTg
A 2.30 31, 600. 00 72, 680
& i fEZREH 100 118, 960. 00 118, 960




Rffik -/ \v7r—o

KEEBIZHITHT R B5FERE MR X

EE 14
2% EBERARE 1X5Y
4 L R - KT By 2 B i & %8 5 &=
EHERRE
= 1.00 108, 981. 00 108, 981
& H YE¥REH : 1.00 108, 981. 00 108, 981
HE5: 15
2 EBRRSR 1Y
% L R - kTiE By = B {f & B i &
(B RRE
= 1.00 92, 000. 00 92,000
= &t YEEBEH : 1.00 92, 000. 00 92,000




